- [ Wliuws g ol ) f?

[ oiiBS O 152953l e U [uLﬂ g oida 55l S UL"J/ﬂ.;/

[L.,n.u.ag.u | s 2w sl sstiod | st ﬁ

O

F{w V(o Flo ¥ (all -\

28 jgalaiug

(GLeT) (FF 315 VF 2038) (oo LS VY doin - G155 s - ngSU | futd) (55 g} (005 # /D 392 48) (0 0051)

Cawg3 (12 ey (il =¥
N0 L b il ¥ b 555 o bl 220 0 Casba jl S8 sl ¥ - a0l (0

(1Y 3 1F 1 58) (gmga A VA IV 01F i o jlams o Casl - LagSUl | Joasd) (15 e i) (0000 /1D 3492 8) (0005 1)

(s gz}
e S S T T S B e
9000 Jald ) pape ¥ s 4o g Casl s ¥ b S5 ¥ 435 (Ll -V
IS e adeie |y Gl 03l (G300 P LY g waS Gl F 1Y F 8 Gl o oy 458 (0
(OheT) (183 11 055) (gursa S |0 Ao iz iz (olet o LagSUl | Josd) (5 e i) (0005 ¢ /D 25 4) (2000 1)

————ioriha S N ST M T N ———————

\Y=la=Y +F (il -F
4+r=11 (e
Pe—F=1A 1A (o
PRA+Y =Y. P (@

(Begza) (15 3 10 V¥ 4098) (gopa S | 1 dondon o 29 5 52903 (e - g8l | JosB) (5 mets ) (0005 * /D 3590 p) (0 403 1')

[ o P Y LN Y Yy i —

ol F-b
o+ d=0,0+0=0,1+F=0,F+I=b.Y+V=04,V+F=0D
(VA 315 1Y 258) (gm0 LSV s 5 g S ) gy 510332 ¥ o) (15 e i) (0 0+ /¥ D 3550 48) (b 003 1 /D)
(s g}
——— A e S e Ry S e S e
(000 + /8) A+ A=1 5 Loy e JS slans —§

(0 e + /0) JS& 03,5 JulS

(B gza) (FY 3 YT TA 1D 1098 (g sn AT P domin = il a5 - ke sling S0l WagSUlo ) Juad) (5 s g} (405 1)
SSolss| VPV F|D

W)’u O ‘.m wﬂ Fao mu
N (b pod /D) .38 g Olegi Vo v 15 329,40 SLS F 3l (0

(050 1) Up3r 03,5 JuaS5 (Gl -V

(s3] (VY 315 (P g8 (g s B Y donds - il gSI1 WngSUle | Jud) (15 eesti Shige) (0 ped 1 /D)

R @ oo eele



